
Algebra Review #16   SHOW HOW YOU 
SOLVED EACH PROBLEM  
   
1. Fill in the properties that justify each step: 

4x + 2 – 2x = 6(x +
1

6
) Given 

4x – 2x + 2 = 6(x +
1

6
)  

2x + 2 = 6x + 6 · 
1

6
  

2x + 2 = 6x + 1  

-4x + 2 = 1  

-4x = -1  

x = 
1

4
  

 
 
2. What is the range of the function  
f(x) = -x + 4 if the domain is {-7,-3,10}? 
 
 
 
 
 
 
 
 
 
 
3. Tell whether the equation has one has one, 
none, or infinite solutions: 
 

−6𝑝 + 1 = 5 − (6𝑝 +  4) 
 

 
 
 
 
 
 
 
 
 

NAME ___________________________ 
 
4. Look at the graph of a function. Complete 
the statement. 

 
{y: y ≥   ⃣   } 

 
 
5.  Solve the following equation: 
 

1

4
𝑥 =

3

4
(𝑥 + 4) 

 
 
 
 
 
 
 
6. Observe the following graph. 

 
Is the following graph a function? Why or why 
not? 
 
What is the domain? 
 
What is the range? 



 
7. What is the value of the following: 
 

3√24 + 5√150 

 

 

 

 

 

 

 

 

 

8. Simplify the radical. 
 

√1458 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 
9. Solve for variable y: 
 

𝐴𝑥 + 𝐵𝑦 =  𝐶 

 

 

 

 

 

 

 

 

 

10. Solve for variable y: 
 

5𝑥𝑦 + 3 = 7 
 


